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(3 hours)

1. Question No. 1 is compttisory I '
2. Attempt any three out of remaining .' ', 

'

3. Assume suitable data if necessary and justi$the'assumptions

4. Figures to the right indicate fullmarks

A Compare IIR systems with FIR systems.

B State whether x[n] : sin (n n/3) is an euergy or power signal'"vith proper

justification.
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i)x [-n] ii)x [n-2]
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Q2A Check rvhether
i) Static or
ii) Linear or
iii) Causal or 1'

systein using time clcxnain method
,8tn-1]+ 46[n-2]and

find their

save method.

r 20000 + 2 sin (2t x. 1000t) is
4-point DFT of tt. Sketch the phasc

sequences x[n] - {2,-3,7,-4,3,-2,4,-1\
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i) cos (n/6) , cos (n z16)

ii) sin (2nn/3) + cos (24'nl5)
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h[n] : '\7,2,3,4] using radix: 2 DIT FFT method. ,
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If the DFT of x[n] is X (k): {2,-j3,0i3}
DFT ofx[n-2]

required, when
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Note: 1. Question I is compulrory.
2, Attempt any 3 questions out of the rest.

3. Make suitable assumptions whenever necessary and justify them
4. Each question carries equal marks.

Ql.
a) Use the Play fair cipher with the keyword : "MEDICINE" to encipher

the message "The greatest lvealth is health".
b) Explain key rings in PGP.
c) Briefly define idea behind RSA and also explain

1) What is the one way function in this system?
2) \Vhat is the trap door in this?
3) Give Public key and Pdvate Key,.

4) Describe securitl''.in this system.

Q2)a) Explain DES, detailing ti:e Feistei structrxe anC S-block design
b) Corcider a \.rcrter data managemeni system in E-r,oting system rvith sensitive and

no:;-sensitive aftributes.

i.) Siro,;i r-r'iih sa:riple c,*elies ho*, atiacks ( ilir*ct, lnference)
a-::e possible on sucl: Cata scts

3) Suggcsi 2 diifereni'*eys tc mitlgate the pioblerr.

Q3)
a) E>:p1alr Difile-liellrta:r F-e1' excirange algodtli::r r',,ith suiteble era-niple .

Aiso explain the probleia of lr{i}d attack in it
b) V'iirat a-re Denial of Sen ice atlacks? Explain an1, tlree types ol DOS

attacks in detail

Q4)
a) IPSec offers security at n/w layer. What is the need of SSlf

Explain the services of SSL protocol?
b) What are the tlpes of firewalls? Horv are firewalis different from IDS

Q 5)a) What are the various ways in u,hich public key distribution is implemented.
Explain the working of public key certificates clearly detailing the role
of certifi cate authority.

b) Why are Digital Signatrues & Digital certificates required? What is the significance
of Dual Signature.

Q6 Attempt any 4

a) SHA-I
b) Timing and Storage Covert Channel

c) Session Hijacking and Spoofing

d) Blovrfish

D S/I,{IME
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N.B. 1. Question No. I is compulsory
2. Attempt any three (3) out of remaining five (5) questions
3. Assume suitable data if necessary and justify the assumptions
4. Figures to the right indicate full marks

Q2 tA]

Total Marks : 80

QI Attempt an four (a) from the following
Define AI. V/hat are applications of AI?

Define heuristic function. Give an example heuristics function for 8-
puzzle problem. Find the heuristics value for a particular state of the
Blocks WorlC Problem.
Compare MoCel based Agent with Utility based Agent.

What are the problems/frustrations that occur in hill climbing
technique? Illustrate with an example
What is supervised leaming and unsupervised learning? Give example t05l
ofeach.

consider the se-arch problem below with start srate s and goal state G. The t10]
transition costs are next to the edges and the heuristic values are next to the
states. What is the final cost using A * search.
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Explain the arclritecture of Expert System. What are advantages and
lirnitations of Experi System?

Q3 iA] Explain rvith example various uninlbrmed search techniques.

tB] Illustrate F-orrvald chaining and backu'ard chaining in propositional logic rvith
example
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N.B. : (1) Question number 1

(3) Assume suitable data.

Design Doma in-Speci fi c Soltrvare Arch i
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p$) and Web Service.
i Mobility and Architecture.
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Model must consists
a) Domain Dictionary3
b) Feature Model

2. a)

b)
Define
Define the
1)

2)
3)

4)
s)

v-l? \ l

Architectural Style.
Style.
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b) Challenges in Migrating Code.

c) Systern Stakehoiders.
d) Simr.rlation-Rased Analysi s.


